C:# Suma (vertical)

Nombre:
Resuelve cada problema. Respuestas
1.
) 22 2 6 3 621
+11 i + 144 2
3
4,
4 89 5 9 6 23 >
+10 i +19 5
7.
8.
N2 8 97 9 550 0.
+ 2 + 22 + 71
_“ 10.
11.
12.
100 16 11) 14 12) 411 13,
+ 4 + 2 + 330
14.
15.
13) 35 14) 91 15 11
+16 + 8 + 6
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Suma (vertical) Nombre: Clave De Respuestas
Resuelve cada problema. Respuestas
1 33
) 22 2 6 3 621
+11 +1 + 144 2 7
33 7 765
3. 765
4 99
4 89 5 9 6 23 > 10
+10 +1 +19 6 42
99 10 42
7 4
8. 119
n 2 8 97 9 550 9, 621
+ +
—2 22 + 71 10, 20
4 119 621
11, 16
12, 741
10) 16 1) 14 12) 411 13 ol
+ 4 + 2 + 330
20 16 741 14. %9
15, 17
13y 35 14) 91 15 11
+ 16 + 8 + 6
51 99 17
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Suma (vertical) Nombre:
Resuelve cada problema. Respuestas
20 99 10 765
33 16 741 42 1.
621 119 7 4
2.
) 22 2 6 3 621 3
+11 +1 + 144
— 4,
5.
6.
7.
4 89 5 9 6) 23
+ 10 i +19 8.
9.
10.
11.
2 8 97 9 550 b
i + 22 + 71
10) 16 11) 14 12) 411
+ 4 + 2 + 330
" M odificado 1-10 | 9283 75|67 [58[50] 4233|2517 |
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